
Name: _______

Cookie Division
Word 

Problem: Draw it: Write the 
answer:

4 cookies 
divided by 2 

people 

= ____ cookies each

4 ➗ 2 = ___

20 cookies 
divided by 4 

people 

= ____ cookies each

20 ➗ 4 = ___

16 cookies 
divided by 2 

people 

= ____ cookies each

16 ➗ 2 = ___



Word 
Problem: Draw it: Write the 

answer:

16 cookies 
divided by 4 

people 

= ____ cookies each

16 ➗ 4 = ___

12 cookies 
divided by 3 

people 

= ____ cookies each

12 ➗ 3 = ___

9 cookies 
divided by 3 

people 

= ____ cookies each

9 ➗ 3 = ___


